Pārbaudes darbs (logaritms)  12.kl.
1) [image: image2.png]logs27




2) [image: image4.png]logs1




3) [image: image6.png]log,81




4) [image: image8.png]logos1




5) [image: image10.png]5logs16




6) [image: image12.png]16l0g.2



         log bāze ir [image: image14.png]



7) [image: image16.png]gloga1z




8) [image: image18.png]16710947




9) [image: image20.png]glogzs




10) [image: image22.png]logs;log,8




11) 3[image: image24.png]log,l0g,16+ log:?2




12) [image: image26.png]log,05 + log,y2




13) [image: image28.png]log,15 — logzﬁ




14) [image: image30.png]loysi — 10g,32




15) [image: image32.png]log:54— log:2




16) [image: image34.png]logs12 — logg15+ logg20




